I S~
\

FC

N\ Copyright FCL 7N \./)/ 7N 7N
\—/ opyrig \\—/ \\—/ \\—/
1 | 2 FClconnect.co 3 4
PRODUCT DIM_X MOUNTING COLOR
NO. 4.25+0.1 | 3.5+0.1 5.0+0.1 STYLE
92821-000 OTHERS | 36,67 315157135‘8 TOP W\O LOCATOR|  BLACK
92821—000LF | OTHERS 36,67 18'1°6s | TOP W\O LOCATOR| BLACK
59.85 ==
52.07
— .27 —] |—
THREADED INSERT | &8 ax AT e
? FOR M2 SCREW :
] L = —7 1.905
58 ;; Eg = 7
' e = —
| gé’—‘_—_—':'—_——‘——'@ 7.2 REF H=H f
X i L 0.7
36 REF T

B

Al PIN\d‘T;_-‘
==

—C- ‘

2.7—'

A
|=—11,6—1
B1 PIN VP (68) AT TP B68 PIN
»—»uuuuunuuuunnuuuunnnuunnuuuuunuw{l
=1 | (1) TRUE POSITION IS A FREE GRID TO THE
'“'J—H.::::::::::::::EF::::::::::::::.H' T PIN PATTERN [TSELF.
C ' N
2 SEE TA-946 FOR PCB LAYOUT.
1.27]
e =iwui| \ A68 PIN 3 MATERIAL:
— PLASTIC: HIGH TEMPERATURE THERMOPLASTIC UL94V—0 BLACK
{4191} PIN: COPPER ALLOY
4 FINISH (PIN):
UNDER PLATING: 0.5 uM MIN. Ni
54.2 = CONTACT AREA: 0.076 um MIN. GOLD
SOLDER AREA: 2.5 uM MIN. Sn—Pb OR 2.5uM MIN PURE Sn FOR —XXXLF
5 PRODUCT SPEC: 110-263
mat’l. code surFace\>/ tolerance|pro jectiofproduct family
1S01302 1SD406 ISO1101 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
_ S X0,
L |ax-n-ooest) 7K {11/01/11}, o d @l OX20.3 MM 68 POSITION DOUBLE DECK
M [Ex-N-011432 ZK |04/23/12 < 0.XX0.13 - TYPE—123 EJECT HEADER
F | v41226 |RDS|08/18/94] O'+2" |~ 0.XXX%0.05 scale 2:1 ~
G | va1439 |ros|09/30/94|dr | D.SHEAFFER [06/09/93) a dwg ho sheet 10f7 |sizp
H | 140309 |Msc|o2/02/95lendr D.BRANN [06/09/93 F‘ :' 92821 A
J | vi2164 | TFG [08/17/01)chn|  D.BRANN  |06/09/93 \_j/ 4
K [Nos—00s52| ws [02/25/05|opHd  D.BRANN  |06/09/93] type  Product Customer Drawing B
sheet|revisignpM | M | M [ M| M[ M| M
index |sheet| 1 [ 2| 3[4]|5]|6]7

I form: A4mmXLc

1

PDS: Rev :M3

STATUS:Released

Printed: May 2642012 I



I FCI I
\/ /\ Copyright FCIL ( /\ \./)/ ( /\ \/ /\
1] 2 FCIconneC‘t.corI 3 4
PRODUCT DIM X MOUNTING COLOR
NO. 4.25+0.1 | 3.5+0.1 5.0%0.1 STYLE
92821-003 OTHERS 36,67 | Ja'di°gs |TOP W\LOCATOR | BLACK
92821-003LF | OTHERS 36,67 | Ja'di°&% |TOP W\LOCATOR | BLACK
50.85 ==
52.07
— —] 28
THREADED INSERT I‘ gEX AT TIP
7 FSR M2 SCREW %*:
b — 1,905
T o7 b o 7X
N ) J@ ‘ e
—&rg——————:—————— - —=_ '
|19 © 7.2 .REF =
X —0.7
36 REF T L
A
A ~—11.6—
B1 PIN /—T%%é?‘-ﬁp 868 PIN
‘ —4.53 NOTES:
Al PN e )
$900000000000000D00000CD00000000 0GP @ TRUE POSITION Is A FREE GRID TO THE
<l | s T === | PIN PATTERN ITSELF.
_' iLLL Hﬂﬂﬂﬂﬂﬂﬂﬂnﬂﬂﬂﬂﬂnlﬂﬂﬂﬂﬂnﬂﬂﬂﬂﬂnﬂﬂﬂ H\ “"l 2 SEE TA—946 FOR PCB LAYOUT.
27 L NC 1.27 3 MATERIAL:
- A68 PIN PLASTIC: HIGH TEMPERATURE THERMOPLASTIC UL94V—0 BLACK
T PIN: COPPER ALLOY
4 FINISH (PIN):
542 UNDER PLATING: 0.5 uM MIN. Ni
- |=: CONTACT AREA: 0.076 pm MIN. GOLD
SOLDER AREA: 2.5 uM MIN. Sn—Pb OR 2.5uM MIN PURE Sn FOR —XXXLF
5 PRODUCT SPEC:110-263
mat’l. code sur‘Face{/ tolerance|pro jectiofproduct family
1S01302 1SD406 ISO1101 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
M angld$ 02(’;’;‘;?3 MM 68 POSITION DOUBLE DECK
el . .
s oosies Tocaloa TYPE-123 EJECT HEADER
dr | D.SHEAFFER [06/09/93 s |dWg no sheet2of7 |sizp
endr D.BRANN _ [06/09/93
chr{ D.BRANN |06/09/93 Fg/'/ 92821 A4
opHd D.BRANN  |06/09/93 type  Product Customer Drawing B
B sheet |revisign
Index |sheet
I form: Ad4mmXLc 1 2 I PDS: Rev :M3 STATUS:Released Printed: May 2642012 I




I S~
\

—

FCi

\ Copyright FCL 7 \./)' 7 7
. opyrig \_ - \_ \_
1] 2 FClconnect.co 3 4
PRODUCT DiM X MOUNTING COLOR
NO. 4.25+0.1 | 3.5%0.1 5.040.1 STYLE
92821-500 OTHERS 36,67 3]5157133'8 BOTTOM W\O LOCATOR | NATURAL
92821—-500LF OTHERS 36,67 5’ {’ BOTTOM W\O LOCATOR | NATURAL
50.85 ==
52.07
[&791}
Lz ] |—
THREADED INSERT | a8 68X AT TIP
FOR M2 SCREW l%’-
2x ——
Bl —=h o - L.90S
58 a DB — 7X
i an) I Fp3 = —t
;\ré——————:——————@ ' - —‘_ '
e o] 72 ‘REF =
X T —0.7
REF T
oy L L
A
A
[~—11.6—]| .
B68 PIN /—W_)E%p B1 PIN
A68 PIN~_ = ‘ — 453 NOTES:
N rmmnnnnnnnnnnnagy—0 © TRUE POSITION IS A FREE GRID TO THE
=1 | == | PIN PATTERN ITSELF.
2~7j 1.27 3 MATERIAL:
| |z \ A PIN PLASTIC: HIGH TEMPERATURE THERMOPLASTIC UL94V-0 BLACK
J— PIN: COPPER ALLOY
141.91F
4 FINISH (PIN»
UNDER PLATING: 0.5 uM MIN. NI
54.2 = CONTACT AREA! 0.076 um MIN, GOLD
SOLDER AREA: 25 uM MIN. Sn-Pb OR 25uM MIN PURE Sn FOR —-XXXLF
S PRODUCT SPEC: 110-263
mat’l. code sur‘Face{/ tolerance|pro jectiofproduct family
1S01302 1SD406 ISO1101 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
M angld$ 02(’;’;‘;?3 MM 68 POSITION DOUBLE DECK
< . B
T EEEvvvvys— pap TYPE-123 EJECT HEADER
dr | D.SHEAFFER [06/09/93 s |dWg no sheet3of7 |sizp
endr D.BRANN _ [06/09/93
chr{ D.BRANN |06/09/93 Fg/'/ 92821 A4
opHd D.BRANN  |06/09/93 type  Product Customer Drawing B
B sheet |revisign
Index |sheet
I form: AdmmXLc 1 ot I PDS: Rev :M3 STATUS:Released Printed: May 2642012 I



A
I 7N Copyright FCI 7y Fg' 7N 2 I
\\—/ opyrig . \\_/ J \\_/ \\_/
1] 2 FClconnect.co 3 4
PRODUCT DIM X MOUNTING COLOR
NO. 4.25+0.1 | 3.5%£0.1 | 5.0+0.1 STYLE
92821-503 OTHERS | 36,67 | 42'di%g | BOTTOM W\LOCATOR| NATURAL
92821-503LF | OTHERS | 36,67 | 4a'4i°% | BOTTOM W\LOCATOR| NATURAL
59.85 ==
52.07
S]]
— ]
THREADED INSERT I—a.e 68X AT TIP
g P FOR M2 SCREW —
1 2X =
L L — 1,905
1 d J b o 7X
58
L @) i_EET -+t
5,%______2______61_ 7.2 REF =i f
L ! I HFEH |_O
X T 7
36 REF T
I~ - -
A
A
~—11.6—|
868 PIN /’ﬁ?{’-&?‘ﬁp B1 PIN
A8 PIN—_ =% : = 453 NOTES:
g ieeeoeoasoooasbapasoaaoaoanena sy —F L @ TRUE POSITION IS A FREE GRID TO THE
=1 | = T —— = PIN PATTERN ITSELF.
HiE "y o SEE TA-946 FOR PCB LAYOUT.
274 -= -- 7.27] 3 MATERIAL:
i) \M PIN PLASTIC: HIGH TEMPERATURE THERMOPLASTIC UL94V-0 BLACK
N PINi COPPER ALLOY
4197
4 FINISH (PINX
UNDER PLATING: 05 uM MIN. Ni
54.2 == CONTACT AREA: 0076 um MIN, GOLD
SOLDER AREA: 25 uM MIN, Sn-Pb OR 25uM MIN PURE Sn FOR -XXXLF
S PRODUCT SPEC: 110-263
mat’l. code surFaci//tolerance pro Jectiomproduct family
1S01302 1SD406 ISO1101 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
M angld$ 02(’;’;‘;?3 MM 68 POSITION DOUBLE DECK
c| . .
s oo Tecaea TYPE—123 EJECT HEADER
dr | D.SHEAFFER [06/09/93 s |dWg no sheet4of7|sizp
endr D.BRANN _ [06/09/93
chr{ D.BRANN |06/09/93 Fg/'/ 92821 A4
opHd D.BRANN  |06/09/93 type  Product Customer Drawing B
B sheet |revisign

index |sheet
I form: A4mmXLc 1 2 I PDS: Rev :M3 STATUS:Released Printed: May 2642012 I



[

FC

\/ /\ Copyright FCIL ( /\ \./)/ ( /\ \/ /\
1] 2 FCIconneC‘t.corI 3 4
PRODUCT DIM X MOUNTING COLOR | MOUNTING
NO. 4.25+0.1 | 3.5%0.1 | 5.0%0.1 STYLE STYLE
92821-040 OTHERS 36,67 | 2a'dids | TOP W\O LOCATOR | BLACK WITH
92821-080 OTHERS | 36,67 | 42'di% |TOP W\O LOCATOR| BLACK | wiTHOUT
92821-040LF | OTHERS | 36,67 | 33'di°ds |TOP W\O LOCATOR | BLACK WITH
92821-080LF | OTHERS | 36,67 | 3a'di% [TOP W\O LOCATOR | BLACK | WITHOUT
59.85 ==
52,07
' {1t ]
—
THREADED INSERT
9 FOR M2 SCREW —
& = E
T ar b
R J@j =
—&rg——————:—————— T~1 - :
NE o] 72 e =
X
36 REF T i
I~ L L
OPTIONAL A
A MOUNTING SUPPORT
SEE TABLE
~—11.6—{
B1 PIN
/—T%l%-ﬁP B68 PIN s NOTES:
A PIN\'W'L—m:::::::::::::::::::::::::::::::::::::::::‘,4..;"—'“_“4Il (D TRUE POSITION IS A FREE GRID TO THE
= | = — = | PIN PATTERN ITSELF.
S ST E TRt s e 2 SEE TA—946 FOR PCB LAYOUT.
T
2.7J 1.07 3 MATERIAL:
- - \ - PLASTIC: HIGH TEMPERATURE THERMOPLASTIC UL94V—-0 BLACK
| |__ AB8 PIN PIN: COPPER ALLOY
4  FINISH (PIN):
{9t} ONDER BLTING: 0.5 uM MIN, Ni
CONTACT AREA: 0.076 um MIN. GOLD
542 - SOLDER AREA: 2.5 uM MIN. Sn—Pb OR 2.5uM MIN PURE Sn FOR —XXXLF
5 PRODUCT SPEC: 110-263
mat’l. code sur‘Face{/ tolerance|pro jectiofproduct family
1S01302 1SD406 ISO1101 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
M angld$ 02(’;’;‘;?3 MM 68 POSITION DOUBLE DECK
el . .
T EEEvvvvys— pap TYPE-123 EJECT HEADER
dr | D.SHEAFFER [06/09/93 s |dWg no sheet50f7 |sizp
endr D.BRANN _ [06/09/93
chr{ D.BRANN |06/09/93 Fg/'/ 92821 A4
opHd D.BRANN  |06/09/93 type  Product Customer Drawing B
B sheet |revisign
Index |sheet
I form: AdmmXLc 1 ot I PDS: Rev :M3 STATUS:Released Printed: May 2642012 I




[

A
/7 —\\ Ve —\\ FCI 7 —\\ \
\ J Copyright FCIL \ ) \./)/ \ y: )
1] 2 FCIconneC‘t.corI 3 4
PRODUCT DIM_X MOUNTING COLOR
NO. 4.25+0.1 | 3.5+0.1 | 5.0+0.1 STYLE
92821-540 OTHERS | 36,67 | a2'di%g |BOTTOM W\O LOCATOR| NATURAL
92821-540LF | OTHERS | 36,67 | Js'd1%g |BOTTOM W\O LOCATOR| NATURAL
50.85 =
52.07
.91 ~| |~ 25
— ‘ 68X AT TIP
THREADED INSERT NOTE 1
) ggR M2 SCREW
- = — ] 1.90
1 d D =|=Z 7X
N mL J@ ! . -l—l_
Gr&g—'————:————‘— | 7.2 REF e H f '
L S [ A 1 14.2
X 0.7
REF T L 7}—L l
= ST
-+ -2
A
A
~—11.6—
B68 PIN /—W_)E%p B1 PIN
NOTES:
AB8 PIN—_ == ‘ — —4.53
““—'M.::::::::::::?%?::::::::::::.M;"—““" (1) TRUE POSITION IS A FREE GRID TO THE
= | —— =) | PIN PATTERN ITSELF.
= m.:::::::::::::5!;:::::::::::::.H\d“,' 2 SEE TA—946 FOR PCB LAYOUT.
274 __ _ 127 3 MATERIAL:
\ PLASTIC: HIGH TEMPERATURE THERMOPLASTIC UL94V—0 BLACK
] |._ Al PIN PIN: COPPER ALLOY
N 4 FINISH (PIN):
141.91F UNDER (PLA%ING: 0.5 uM MIN. Ni
CONTACT AREA: 0.076 pm MIN. GOLD
54.2 = SOLDER AREA: 2.5 uM MIN. Sn—Pb OR 2.5uM MIN PURE Sn FOR —XXXLF
5 PRODUCT SPEC: 110-263
mat’l. code sur‘Face{/ tolerance|pro jectiofproduct family
1S01302 1SD406 ISO1101 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
M angld$ 02(’;’;‘;?3 MM 68 POSITION DOUBLE DECK
< . B
57 P oozios Tecae o TYPE—123 EJECT HEADER
dr | D.SHEAFFER [06/09/93 s |dWg no sheetBof7 |sizp
endr D.BRANN _ [06/09/93
chr{ D.BRANN |06/09/93 Fg/'/ 92821 A4
opHd D.BRANN  |06/09/93 type  Product Customer Drawing B
B sheet |revisign
Index |sheet
1 PDS: Rev :M3 STATUS:Released Printed: May 2642012 I

I form: A4mmXLc



[

-~ FC

( \ Copyright FCIL \./)/
N N N N
1 2 FClconnect.co 3
SEE SH. 1&2
0,79+0.05 TYP
B1 PIN B68 PIN
| ]0.15 @[ F[G] $1+0.1
NOTE 1 e
1.905 1.905
- ——[z] Z ~— 1z
TYP
Al PIN 4#ooooooooo;toooooooooooooooooct# B68 PIN A68 PIN 4;000000 o00000000000000000000004}& Bl PIN
\'\Qfo°o°o°o°o°o°o°o°o°o°ooo°o°ooo¢ /_ \'\:¢°o°o°o°oooooooooooooooooooooooﬁ/_
©0000D0000O0O0OOOO4 000000000000 O0O0O0%
4 00000000000000 0% $0000000000000O0 0%
_ 4 0000000000000 O0 04 _ $¢0000000000000O0O0%
ﬁ&ooooooooooooooo ‘$’\ J#<§000000000000000 $’
07 82.240.05 0.7 /
A68 PIN 2Xx Al PIN
5.08 — | 41.91 | 5.08 — 41.91 |
2X =4 2X
645 %01 645 %01
= 3.47
= 3.47
2X 2X A
A
GROUNDING PAD GROUNDING PAD I
T e
f 2.3 f $2.340.1
5— | 2Xx 5— | 4X
59 0.1 59 0.1
RECOMMENDED P.C.B. LAYOUT RECOMMENDED P.C.B. LAYOUT
FOR TOP MOUNTED FOR BOTTOM MOUNTED
SCALE 2/1 SCALE 2/1
mat’l. code sur‘Face{/ tolerance|pro jectiofproduct family
1s01302 I1S0406 ISO1101 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
u ongle§ 02(’;’;‘;?3 MM 68 POSITION DOUBLE DECK
oiz |- OXXXE005 —cale 21 TYPE-123 EJECT HEADER
dr | D.SHEAFFER [06/09/93 s |dWg no sheet70f7 |sizp
endr D.BRANN _ [06/09/93
chr{ D.BRANN |06/09/93 Fg/'/ 92821 A4
opHd D.BRANN  |06/09/93 type  Product Customer Drawing B
B sheet |revisign
Index |sheet
I form: Ad4mmXLc 1 2 I PDS: Rev :M3 STATUS:Released Printed: May 2642012 I



